Arm dimensions


Note many dimensions are taken from your drawing and are somewhat approximate.

Main Arm

End of flange on tube to flange on load lock = 5.3”   

End of flange on tube to center of load lock = 11.6  

Center of Load Lock to center of analysis 15.1”    

End of flange on tube to center of analysis = 26.7”

Fork extends off end of rod by 2.5”

Minimum extension will have the front of the fork 2” past center of load lock: 
position of front of fork from flange on end of tube is: 11.6” - 2” = 9.6”

Min extension of rod from flange on tub is 9.6’ – 2.5’ = 7.1”

Maximum extension will have the front of the fork 2” past center of analysis, thus the front of the fork from flange on tube is 26.7 + 2 = 28.7”

Max extension of arm is length of less the fork extension: 28.7 – 2.5 = 26.2”

Minimum Throw of arm is from 2” behind center of load lock to 2” past center of analysis: 15.1” +2 + 2=19.1”  or alternatively 26.2 – 7.1 =19.1” or 28.7 - 9.6 

Min length of tube is throw + size of slider (5’) + excess on end 1”= 19.1 + 5 + 1=25.1”

maximum extension of arm from tube is 26.7 - 2.5 + 2 = 27.2”

On drawing you show are 27.6”

back (storage) arm

End of flange on tube to center of load lock   21.5”    New 20.6

End of flange on tube to center of back chamber 7.5”     7.2”

End of flange on tube to end of back chamber  12.9      12.3

Fork extends past arm 5.0 to 5.8”  (with only side holes it is about 5.0” long but with extra one at end it is ~5.8” long);

The holes for stubs on fork are 1.3” and 3.8” from arm.

Furthest extension of arm from flange on end of tube has back hole of fork little (1”) past center of load lock thus it is 21.5 – 1.3 + 1 = 21.2”     new 20.6 -1.3 +1 = 20.3

Front of fork is 3.7” (or 4.5”) in front of back hole; then front of fork is 25.5” (or 26.3”) from back flange.    21.2 + 3.7 (4.5) = 24.9 (25.7)

Shortest extension of arm from flange on end of tube has front of fork inside back chamber by about 1” that extends 12.9” from flange on end of tube.  

Thus 12.8 – 5.0 (or 5.8)- 1 = 6.8” (6”);  new  12.3 -5.0 (5.8) -1 =6.3 (5.5) 

This takes account of the spacer of ~3” between the storage chamber and the load lock.

min throw of arm is 21.2 - 6.8  = 14.4”   (21.2 - 6  = 15.2”)      new 20.3  -6.3 (5.5) = 14.0 (14.8)  

Min tube length is throw + slider width + 1” at back,  14.4 (15.2) + 5 + 1 = 20.4” (21.2”).  new  14.0 (14.8) + 5 + 1 = 20.0” (20.8)

I think on your drawing you show the tube 27” long?  26”

